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~ (I) Define the following tehits: (10 %) (5 points each ) .. 
(a) Organic Chemistry 

(b) Aliphatic Compounds and Aromatic Compounds 

(II) ( 10 0/c» ) (5 points each) 
(a)	 (b) OH 

.. CCNH 

?o ---,? I . ' • 
d	 . NO2 

Br 

(III) Give the strustures of the major organic products of the following reactions: 3 points each 

(1)
 

---~-~.- --------:.:: - --~~-

(3) 

(5) 

(7) 

excess

~CJ 
(9) 

Br 

1) NaCN 
... 

HO 2) LiAIH4 

OH 3) H20 

(2) 

~+ 
H 

refluxing benzene 
_____ .- ...-._0.------ __.~ ~_.	 ~ ~_. 

(4) 

1) LiAlH4 

(6) 

HBr 

Peroxides 
(ROOR) 

(8) 

e 
OH 

(10) 

1) CH3I, excess ..0---­ 2) Ag20, H2O
N 

then heat I 
H 

~"\ ~ ~1m, ~#~1 *-. 
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1.	 (l 0%)The density of a solution containing 292.0 g of Mg(N03)2 (molecular weight 

l48.3g/mole) in 880 g of H20 is 1.108 g/ml. The molarity of the solution is M. 

2.	 (8%)Filling in the missing information in the following table: 

PH POH [Hi [OH"] acjd base Qr neutral ~ 

Solution 5.64 

3.	 (lO%)The f{.p for lead iodide (PbI2) is 1.4 x 10.8
• Calculate the solubility of lead iodide 

in each of the following. (a). water. (b). 0.01 MPb(N03)2. 

4.	 (lO%)The measured voltage of the cell: 

is 1.02 V at 25' C. Given EOcell is 0.80 V,
 

calculate the [H+] of the solution and its pH.
 

5.	 (12%) M'ftr\~JE~J!f~1W,f8l~~aB~1t~7t;ffTfi~~»~~n~)7U~~~mfDJj] 

m;~ftr\J!AiiffJi:?fT1&lffJ\B~~~~~f~~{tM?M~tfm¥lJm~1t~:5t;ffTfi~,ij~ 

)7U~~~mfDJ)] m. 


